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CHEN 490 — Fundamentals of Petroleum Engineering
HW # 2 — Due Thursday, 10110/2013
1. Converting from a weight percent analysis to mole percent for a hydrocarbon gas.

Component Wt, % M

a1 30 16.04
C2 40 30.07
Cc3 30 44.09

2. Agas well is producing gas with a sp. gravity of 0.65 at a rate of 1.1 MM scf /day. The average
reservoir pressure and temperature are 1500 psi and 150 F. Calculate:
a) Apparent molecular weight of the gas
b) Gas density at reservoir conditions
¢) Flow rate in Ib/day

g5
3. (a) Compute the initial tank oil in place for the following field. 05 %1000 0 % *}T/
Area = 1000 acres § = sovoe s
Average porosity, ¢ = 18% 2
Average connate water saturation, Sw = 25% T = 150 Q
FVF for oil, Bo=1.15 - e IR
Average sand thickness = 15 ft
(b) Compute the standard quantity of 0.70 gravity gas which could be contained in the same
field.
Reservoir depth = 10000 ft .
Static pressure gradient for area = 0.50 psi/ft ’_._3/ X fooe<
Temperature gradient = 1.5/100 ft w5 §F
Average surface temperature =75 F
4. A cylindrical core sample was subjected to the following linear flow test conditions. Compute
the sample’s permeability in md.
L=10cm
p=1lcp
Diameter =2 cm
Q=12 cc¢/min
P1=44.1 psig
P2 =14.7 psia ‘(
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